The Monkey Gun

It takes a certain amount of time, t, for the bullet to travel the horizontal distance, d,

between the gun and the monkey. The question is: since the monkey drops right when the
gun is fired, will the monkey fall to a vertical position that is the same as that of the bullet
after the bullet has traveled the horizontal distance d?

Yooukey = H=8112 Yy =0+ Vj1-gPf2
e Xy = 0 + V.t where V, = Veos® and V, = Vsinf ,
At time T the bullet will have gone a distance d so that

Xowie =d = VoosB T or T = d/Veosd .

Substituting into the Y, ., equation

Yiune = Vaind [d/Veos] - gT%2 = dand - T2
And

Y ke = H T2,

Finally, 8 = tan"'(H/d) so that

Yo = H-gT2 = Y .






